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 (uq¿ ,l=Kq 40) 
fldgi 

1 jk m%Yakh i|yd fhdað; W;a;r( 
 

1.1 (4)   

                    9x2 -25=(3x-5)(3x+5)  

          (,l=Kq 03) 

1.2 (1)   
𝑆 = 𝑋(1 + 𝑟)𝑛  x= 400 000, n = 4,    r = 0.08,     

 
 𝑆 = 400 000 × 1.084 
  
             S   = 544195.58 
 

fmd,sh   = 544196 – 400 000 = re. 144 196// 
          (,l=Kq 03) 

1.3 (2) 

 P(XՈY) = P(X) + P(Y) – P(XՍY)  

P(XՈY) = 0.40 + 0.55 – 0.85 

P(XՈY) = 0.10 (,l=Kq 03) 

1.4  (4)    

 𝑄 =
𝑞1

𝑞0
× 100 

 

𝑄 =
50

40
× 100 = 125% 

            (,l=Kq 03) 
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1.5 (3) 

 r   =              n ∑ XY -  ∑ X . ∑ Y 

                   √ (n ∑ X2 -  (∑ X)2 ) (n ∑ Y2 -  (∑ Y)2 ) 

 

               r   =                 5 X 2863 – 293 X 60 

                   √ (5 X 20575 - 2932 ) (5 X 928 – 602 ) 

 

     =    - 0. 7759 

 (,l=Kq 03) 

1.6 (4) 

Md = L +
( 

𝑛

2
−𝐹𝑐 )

𝑓𝑚
 × 𝑐. 

 

 

Md = 29.5 +
(50 − 20 )

35
 × 5 

 

Md = 34 

(,l=Kq 03) 

1.7  (3)  a = 1- 0.75 = 0.25   

                                                                        (,l=Kq 03) 

1.8  (1) 

             EIR = (1 + r/n)n - 1      r=0.16,  n=4 

             EIR = (1 + 0.16/4)4 - 1   

             EIR = 0.16986 

             EIR = 16.98% 

 (,l=Kq 03) 

1.9 (2) 

 𝑃𝑉 =
𝑋(1−(1+𝑟)−𝑛)

𝑟
 

 PV= 2000 000, n = 5,  r = 0.12 

 2000000 =
𝑥(1−1.12−5)

0.12
  

 𝑥 =
2000000×0.12

(1−1.12−5)
  

 𝑥 = 𝑅𝑠. 554,785   

 (,l=Kq 03) 
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1.10   (2)                                                                                 

𝑌̂ = 𝑇̂ × 𝑆̂ 

 𝑌̂ = 1265 × 1.05 

 𝑌̂ = 1328 

(,l=Kq 03) 

1.11 A    3 

 B    1 

 C    4 

 D    2 

 (tllg ,l=Kq 1 ne.ska, ,l=Kq 04) 

 

1.12      YsIHhd wÕyrejdod iy n%yiam;skaod rEmjdysksh kerUQ uq¿ ñks;a;= .Kk } 60 ¬ 10 

           }ñks;a;= 70  

 (,l=Kq 02)  

1.13  

𝑇𝑛  = 𝑎 + (𝑛 − 1)𝑑 

             𝑇𝑛  = 0 + 9 ×
1

4
 

              𝑇𝑛  =   
9

4
 

              𝑇𝑛  =  2 
1

4
   or 2.25    

 (,l=Kq 02) 

1.14 wi;Hhs  

  (,l=Kq 01) 

1.15 i;Hhs                                                                                           

      (,l=Kq 01) 

(uq¿ ,l=Kq 40)  

 
  

A fldgfiys wjidkh 
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(uq¿ ,l=Kq 40) 

 

02 jk m%Yakh i|yd fhdað; W;a;r( 

mßÉfþoh 01 - .‚;fha uQ,sl ixl,am 

(a)        𝑇𝑛  = 𝑎𝑟𝑛−1  a = 500,000, r = 1.15, n = 4 

     𝑇6  = 500,000 × 1.153  

     𝑇6 = 760,437.50 

 
isõjk jif¾ ,dNh } re' 760"437'50 ls 

                                                                                                               (,l=Kq 03) 

(b)        

A iud.fï fldgil msßjeh }  re" X 

B iud.fï fldgil msßjeh }  re" Y 

 61x + 80y  =  7,042               (1) 

 61x + 14y  =  3,346                   (2) 

(1) – (2)        66y   =   3,696 

    y    =       56 

    (1) =>  61x + 80 x 56  =    7,042 

  61x         =    2,562 

    x    =    42 

A iud.fï fldgil msßjeh }  re" 42 

B iud.fï fldgil msßjeh }  re" 56 

(,l=Kq 04)  

(c)  

kqjka úiska f.úh hq;= uq¿ uqo, = 840 ×
115

100
   

                        = re" 966 

         (,l=Kq 03) 

 (uq¿ ,l=Kq 10)  

 
 
 
 

fldgi - B 
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3 jk m%Yakh i|yd fhdað; W;a;r(  

mßÉfþoh 03 - jHdmdr i|yd uq,H fufyhqï mshjr 

(a)  

𝑇𝑅 = 𝑝 × 𝑞    p = 13q – 20 

𝑇𝑅 = (13q −  20) × q 

 

𝑻𝑹 = 𝟏𝟑𝐪𝟐 − 𝟐𝟎𝐪      

     𝐌𝐂 =
𝑑𝑇𝐶

𝑑𝑞
 

            𝑴𝑪 =26q + 5  

 (,l=Kq  04)  

(b)   

   q = 50 kï 

   wdka;sl msßjeh iólrKh^MC&  =26X 50 + 5 

              ^MC& = Rs. 1305   

 (,l=Kq  02) 

(c) 
iuÉfþok tall ,laIh   

      TR = TC 

  13q2 − 20q   = 13q2 + 5q − 1000 

             25 q = 1000  

      q = 40 

 

  iuÉfþok tall m%udKh = 40  

(,l=Kq  04) 

(uq¿ ,l=Kq 10)  

4 jk m%Yakh i|yd fhdað; W;a;r(  

mßÉfþoh 05 - m%udKd;aul úp,H folla ixikaokh lsÍu 

 

(a)   

x y  xy  X2 

15 10 150 225 

18 8 144 324 

22 6 132 484 
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 b        =               n ∑ XY -  ∑ X . ∑ Y 

                                   (n ∑ X2 -  (∑ X)2 )  

               b        =             8 X 1,205 – 155 X 64 

                                   (8 X 3,083 - 1552 ) 

                           b        = - 0.438 

                             a    = 𝑌̅ − 𝑏𝑋̅ 

   a   =  
64

8
− (−0.4382) ×

155

8
 

   a   = 16.486 

 
wvq;u j¾. m%;smdhk f¾Ldj 

      Y = 16.486 - 0.438x 

(,l=Kq  08) 

(b) 

lEu jÜfgdare .Kk  x = 19                                                                                                                              

 

   Y = 16.486 - 0.438x 

   Y = 16.486 - 0.438×19 

Y = 8.164 

mdßfNda.sl ;Dma;s sfha fY%a‚.; lsÍu 8.  

 
 (,l=Kq  02)  

(uq¿ ,l=Kq 10)  

 

 

 

 

 

 

 

 

23 6 138 529 

24 7 168 576 

20 8 160 400 

17 9 153 289 

16 10 160 256 

∑ 𝒙 = 𝟏𝟓𝟓 ∑ 𝒚 = 𝟔𝟒 ∑ 𝒙𝒚 = 𝟏, 𝟐𝟎𝟓 ∑ 𝒙𝟐 = 𝟑, 𝟎𝟖𝟑 
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5 jk m%Yakh i|yd fhdað; W;a;r( 

mßÉfþoh 04 - o;a; bÈßm;a lsÍu iy úia;rd;aul mshjr 

 
(a) ud;h 80-89 

 

 
L1 = 79.5, ∆𝟏= 𝟗 − 𝟐 = 𝟕

 C = 10 

             ∆𝟐= 𝟗 − 𝟓 = 𝟒 
 

𝑴𝒐 = 𝑳𝒊 + [
∆𝟏

∆𝟏 + ∆𝟐
] × 𝑪 

 

 𝑴𝒐 = 𝟕𝟗. 𝟓 + [
𝟕

𝟕+𝟒
] × 𝟏𝟎 

 
 
             𝑴𝒐 = 𝟖𝟓. 𝟖𝟔 

 
 (,l=Kq  03)  

(b)     

 

 

 

 

 

 

 

 

 
∑ f X =2,535 ∑ f X2 = 222,007.5   ∑ f =30 
 
 uOHhkh =      ∑ fX 

                    ∑ f 

        =   2,535 

                30 

        =  84.5  

 (,l=Kq  03) 

j¾Idm;kh 
ñ,s,Sg¾ 

x f fx Fx2 

50 - 59 54.5 3 163.5 8,910.75 

60 - 69 64.5 4 258 16,641 

70 - 79 74.5 2 149 11,100.50 

80 - 89 84.5 9 760.5 64,262.25 

90 - 99 94.5 5 472.5 44,651.25 

100 - 109 104.5 7 731.5 76,441.75 

  30 2,535 222,007.50 

j¾Idm;kh 
ñ,s,Sg¾  X F fx fx2 

50 - 59 
54.5 3 163.5 8,910.75 

60 - 69 
64.5 4 258 16,641 

70 - 79 
74.5 2 149 11,100.5 

80 - 89 
84.5 9 760.5 64,262.25 

90 - 99 
94.5 5 472.5 44,651.25 

100 - 109 
104.5 7 731.5 76,441.75 

30 2,535 222,007.50 
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(c)  

iïu; wm.ukh = √
∑ 𝒇𝒙𝟐

∑ 𝒇
−  [

∑ 𝒇𝒙

∑ 𝒇
]

𝟐

        

 

iïu; wm.ukh = √𝟐𝟐𝟐,𝟎𝟎𝟕.𝟓

𝟑𝟎
− 84.52        

           

                              =16.12  

 
(,l=Kq  04) 

     (uq¿ ,l=Kq 10)  
 
 
 
 
 
 
  

B fldgfiys wjidkh 
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(uq¿ ,l=Kq  20) 

6 jk m%Yakh i|yd fhdað; W;a;r( 
(A) 

mßÉfþoh 02 - jHdmdr i|yd uQ,H .‚;h 
  
(a) 
1 jk l%uh ^.Kl hka;%h Ndú;d lsÍu& 

 j¾;udk w.h 

         𝑷𝑽 =
𝑿(𝟏−(𝟏+𝒓)−𝒏)

𝒓
 

 
 X= 65,848, n = 4,  r = 0.12 
 

 𝑃𝑉 =
65,848×(1−1.12−4)

0.12
   

 
 𝑃𝑉 = 200,003.38 

Kh uqo, = re'200,003.38  

 

 2 jk l%uh ^CDF j.=j Ndú;d lsÍu& 

wOHhk lÜg,fhys we;s CDF j.= w.hkag we;af;a oYu ia:dk ;=kla mu‚ 
 
j¾;udk w.h 

         𝑷𝑽 = 𝒙 × 𝑪𝑫𝑭 X= 65,848,  n= 4 , CDF= 3.037 

 𝑷𝑽 = 𝟔𝟓, 𝟖𝟒𝟖 × 𝟑. 𝟎𝟑𝟕4 

 𝑷𝑽 = 𝟐𝟎𝟎, 𝟎𝟎𝟔. 𝟕𝟐 

Kh uqo, = re' 200,006.72  

(,l=Kq  03) 

(b) Kh uqo, re' 200"000 la kï 

jir  
 

wdrïN Kh 
 

fmd,sh 12] 
 

m%d.aOk wdmiq f.ùu 
 

fmd<sh  
 

1        200,000      24,000          65,848           158,152  

2        158,152  18,978.24      65,848           111,282.24  

3   111,282.24  13,353.87          65,848             58,788.11 

4 58,788.11   7,054.57          65,848                    0 

(,l=Kq  03) 
                 

 

fldgi - C 
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(B) 
mßÉfþoh 02 - jHdmdr i|yd uQ,H .‚;h 

 
(a) 

jir  
 

uqo,a m%jdy 
D.F. (10%) 

j¾;udk w.h 
(úl,am A) 

j¾;udk w.h 
(úl,am B) A B 

0 (1,800,000)   (1,400,000) 1       (1,800,000)       (1,400,000) 

1         400,000          500,000  0.909             363,600              454,500  

2         800,000          600,000  0.826             660,800              495,600  

3      1,000,000          800,000 0.751             751,000              600,800  

Y='j'w'     

 

        (24,600)             150,900  

 
(,l=Kq  05) 

(b)  

 

 jHdmD;sh A  jHdmD;sh  B 

                                   wdfhdackh                     1 800 000        1 400 000                                     

                                   Y='j'w'                                 - 23 892                            151 465   

                fyda           - 24 600              fyda    150,900.00  

 
B jHdmD;sfha Y=oaO j¾;udk w.h Okd;aul fõ' jHdmD;sh Ays Y='j'w' RKd;aul w.hla 

we;' tneúka B jHdmD;sh fyd|u wdfhdackh fõ'  

                (,l=Kq  02) 

 (C) 
mßÉfþoh 06 - iïNdú;dj iy tys fhÿï   

 
 

j¾.h ksjerÈ f,i jerÈ f,i uq¿ tl;=j 

A 12 5 17 

B 8 7 15 

C 6 12 18 

tl;=j   26 24 50 

 
(a) 

wyUq f,i f;dard.;a fnda;,h A ma,diaála j,ska idok ,o iïNdú;dj = 
17

50
 

               = 0.34  
(,l=Kq  02) 
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 (b)  
wyUq f,i f;dard.;a fnda;,hla B ma,diaála  j¾.fhka idok ,o tlla njg § we;súg" th 

jerÈ wdldrhg neyer lrk ,o fnda;,hla ùfï iïNdú;dj  =  
7

15
    = 0.47 

           (,l=Kq  02) 

 
(D) 
mßÉfþoh 06 - iïNdú;dj iy tys fhÿï 

X :  i;shl w;sld, §ukdj (re.) 
 µ= 7020  σ = 90 
 

        𝑍 =
X  −  µ

σ 
                                    

 

𝑍 =
X  −  7020

90
     

 

X=7200,  𝑍 =
7200  −  7020

90
= +2     

       

     0.4772   

 

 

              0.5 – 0.4772 = 0.0228   

 

                                                                                               x     

                                              7020     7200   

  z 

    0         + 2.00 

Pr (X > 7200 )  = 0.50 – 0.4772  

        = .0228 

    =  2.28%  

 

i;shl w;sld, f.ùu" re'7"200lg jvd jeäfhka ,nk  

iq¿ fiajlhska .Kk = 0.0228 X 2000  = 46 

(,l=Kq  04) 

(uq¿ ,l=Kq 20)  
 
 
 
 
 
 

 

C fldgfiys wjidkh 
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Notice:  
 
 
These answers compiled and issued by the Education and Training Division of AAT Sri Lanka 

constitute part and parcel of study material for AAT students.  

These should be understood as Suggested Answers to question set at AAT Examinations and should 

not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The 

fundamental objective of this publication is to add completeness to its series of study texts, designs 

especially for the benefit of those students who are engaged in self-studies. These are intended to 

assist them with the exploration of the relevant subject matter and further enhance their understanding 

as well as stay relevant in the art of answering questions at examination level. 
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